T THYNUIN

618

|7b‘l:“77/7 IS5 FER

WEDGE CLAMPS

[l e Rt EES

PAT.P No.E-9460

o'

S45C FEAHRC32
SEE) 240
T&-ISuhg(F * EEEES
\ @S O5VF | 05vF  BARE B me
w=r=lte N2 TEN  BEER) ANO—o MLONm fakn EEKe | i
% 946739 | KCH12TC-14 | 14  50.4 6 9 4 0.5 | 20,700
* 946740 | KCH12TC-16| 16 = 50.4 6 9 4 0.5 | 20,700
% 946741 | KCH12TC-18 | 18 50.4 6 9 4 0.6 | 21,800
% 946742 | KCH16TC-18| 18 = 60.4 6 24 45 1 | 23300
% 946743 | KCH16TC-20 | 20  60.4 6 24 45 1 | 23,500
* 946744 | KCH16TC-22| 22  60.4 6 24 45 1.1 | 23,900
T&ATVTIAT * ZEEER
\ @& | O5UF | 05UF | BARE  BAm  EE
#—5—No. No. THD AE@A) ANO—7 MLON-m FAKN kg | T8
% 946745 KCL12TC-14 | 14 = 50.4 6 9 4 0.7 | 23,900
% 946746 | KCL12TC-16 | 16 . 50.4 6 9 4 0.7 | 23,900
% 946747 | KCL12TC-18 | 18 = 50.4 6 9 4 0.7 | 24,700
% 946748 | KCL16TC-18 | 18 = 60.4 6 24 45 1.3 | 26,500
% 946749 | KCL16TC-20 | 20 = 60.4 6 24 45 1.3 | 26,900
% 946750 | KCL16TC-22 | 22 = 60.4 6 24 45 1.4 | 27300
TE-ZEHUIAT * [BAEIEER
‘ @a | 05VF | 05VF | BARGE  BAW  BEE
#—5'—No. No. THD BEER AKO-2 MLON-m ABKN kg | 098
%946751 | KCHU12TC-14| 14 = 50.4 6 9 4 06 |20,400
% 946752 | KCHU12TC-16| 16 = 50.4 6 9 4 07 | 20400
% 946753 | KCHU12TC-18| 18 = 50.4 6 9 4 07 | 21,500
* 946754 | KCHU16TC-18| 18 | 60.4 6 24 45 1.2 |22300
% 946755 | KCHU16TC-20| 20 = 60.4 6 24 45 12 |22700
% 946756 | KCHU16TC-22| 22 = 60.4 6 24 45 13 |23300
IvTITSYRIA TS * EEEER
\ RUEY | 05vF | O5VF | BARME BAW  EE
A=FNo.|  No. (8)  ESEA) ARO—7 RLoNm (AN kg | O
% 950543 | KCHAMC |M 4x0.7 = 186 15 12 1.2 004 13,800
% 950544 | KCHEMC | M 6x1 26 23 9 4 01 | 14500
M 6x1
%950545 | KCHBMC |4 0%} )c 329 28 10 6 02 | 16300
M10x1.5
%946781 | KCH12MC| V119512 50.4 6 20 10 06 |18.600
M12x1.75
%946782 | KCH16MC | 11 £ 60.4 6 64 12 1.1 | 20,700
Ty FRATVTIAF * EEEER
\ RUEY | 05vF | 05VF | BARME BAW  BE
a==ie) e @B)  BE@R) ANO-o MLON-m ARkN. kg | 08
M10X1.5
%946783 |[KCL12MC | ‘11 5%1 95 50.4 6 20 10 06 | 21,800
M12X1.75
*946784 | KCL16MC | Vi1 70 60.4 6 64 12 1.1 | 24,300
Ty FRREHLI AT * EEEES
\ RUEY | 57 | O5VF | BARE  BAW EE
F=o=il No. HE)  BE@K) AO-0 MUONm MRkN kg | 08
% 950546 | KCHU4AMC |M 4x07 = 186 = 1.5 12 1.2 003| 9,300
% 950547 | KCHUBMC | M 6x1 26 23 9 4 01 | 9,700
M 6x1
%950548 KCHUBMC | \\ oxqos 329 28 10 6 02 |10,800
M10X1.5
%946785 | KCHU12MC | V19212 504 6 20 10 05 (13,800
M12x1.75
%946786 | KCHU16MC | 11275 604 = 6 64 12 1 [15,200

CADF—99'9y0—K « EERAIE Web 51 hT! [ 7T

SINCE 1560

NABEYA co., LTD.

2023.7.21



TIYNIAS

o
‘H

2ATVTIALS

[Tl

REHLIATS

"
§KWL : ol §’[F/Lh;io %Ti g e
¥, Vimd Hr 114
Al Al ATATH oAl
TSYNIALTS
No. A B Cx01 D  E F G H | Jo o K@BR - L@BE) M
KCH4MC 16 = 16 8 186 55 13 = 35 15 30 9 ‘M 4x0.7 X20.M 4x0.7 %20 7.5
KCH6MC 19 22 10 26 7 18 45 23 ¢ 40 10 ‘M 6X1.0 X25:M 6X1.0 X25:11.5
KCH8MC 22 28 14 329 85 23 45 28 50 16 ‘M 8X1.25X35:M 6X1.0 X25:13.5
KCH12MC 30 40 20 504 12 33 8 6 75 23 M12X1.75X50 M10X1.5 X50: 19
KCH16MC 38 50 25 604 15 38 10 6 92 27 M16X2  X60:M12X1.75X60: 24
KCH12TC-14 | 30 40 20 504 12 33 8 6 75 23 :M12X1.75X50:M10X1.5 X55: 19
KCH12TC-16 | 30 40 20 504 12 33 8 6 75 28 M12X1.75X55:M10%X1.5 X60: 19
KCH12TC-18 | 30 40 20 504 12 33 8 6 75 33 M12X1.75X60:M10X1.5 X60: 19
KCH16TC-18 | 38 50 25 604 15 38 10 6 92 32 M16X2  X65M12X1.75X70: 24
KCH16TC-20 | 38 50 25 604 :15 38 10 6 92 37 M16X2  X70:M12X1.75X70: 24
KCH16TC-22 | 38 50 25 604 15 38 10 6 92 42 M16X2  X75:M12X1.75X75: 24
ATV SIS
No. A ¢ B iCwt: D : E { F i G i H i | i J K@tE) : L@tE) M
KCL12MC 38 50 ¢ 25 :604: 15 @ 38 10 6 92 37 - M16X2 X70: M12X1.75X70: 10
KCL16MC 38 : 50 : 25 :604: 15 & 38 10 6 92 42  MI16X2 X75: M12X1.75X75: 10
KCL12TC-14 | 30 40 = 20 504 12 33 8 6 75 23 MI12x1.75X50 M10x1.5 x50 8
KCL12TC-16 | 38 @ 50 @ 25 604 15 @ 38 10 6 92 = 27 S M16X2 X60 M12X1.75%X60 10
KCL12TC-18 | 30 : 40 : 20 :504: 12 @ 33 8 6 75 23 1 M12X1.75X50 : M10x1.5 X55 8
KCL16TC-18 | 30 : 40 : 20 :504: 12 : 33 8 6 75 1 28 ¢ M12X1.75%X55: M10X1.5 X60 8
KCL16TC-20 | 30 = 40 = 20 504 12 . 33 8 6 75 33  MI12x1.75x60 M10x15 X60 8
KCL16TC-22 | 38 50 @ 25 604 15 & 38 10 6 92 32  M16X2 X65: M12X1.75X70: 10
REHLIAS
No. A B Cx001: D : E : F i G : H : I i J K@s L@tB) M
KCHU4MC 16 0 16 0 85:186 45 13 3515 255 9 M 4x0.7 X20. M 4x0.7 %20 . 7.5
KCHU6MC 19 ¢ 22 1105 26 7 18 : 35 0 23 1355 10 M 6X1.0 X25: M 6X1.0 X25 :11.5
KCHUSMC 22 028 145329 85 23 55 28 455 16 M 8x1.25x35. M 6x1.0 x25 :13.5
KCHU12MC 30 0 40 21 :504:12 : 33 6 6 675 23 i M12x1.75X50: M10Xx1.5 x50 :19
KCHU16MC 38 ¢ 50 126 :604:15 38 7 6 82 27 M16X2  X60: M12X1.75%60 24
KCHU12TC-14 | 30 @ 40 @ 21 50.4: 12 33 1 6 6 67.5 23  M12X1.75%X50: M10x1.5 X55 :19
KCHU12TC-16 | 30 40 121 504 12 = 33 6 6 675 28 i M12x1.75%55: M10X1.5 x60 :19
KCHU12TC-18| 30 : 40 : 21 504 12 - 33 6 6 675 33 :M12x1.75%60: M10X1.5 x60 :19
KCHU16TC-18 | 38 @ 50 26 604 15 38 7 6 82 32 M16X2  X65: M12X1.75X70 :24
KCHU16TC-20 | 38 : 50 : 26 604 15 38 7 6 82 37 M16X2  X70: M12X1.75X70 24
KCHU16TC-22| 38 - 50 26 604 15 = 38 7 6 82 42  M16x2  X75. M12x1.75X75 24
MERGRIERY
BB
@ | A (KCLKCHH)
@ | A (KCHURA)
@ | Of(T3vh)
@ | OLRTYY)
® | FEEE (INEIH)
® | ATV T
@ | VIyh2IUa—
SHATROVNYNTEIA TDH)

SINCE 1560

NABEYA co., LTD.

2023.7.21

CADF—959y0—k « EERRI Web ¥ bT! [ 7T

T THYNUIN

619





